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SM: JIR0AA
HE: TAYY (LB DD/ L)

=elr 2K € XYY (e &)
SN - BB - B9I(31) - HIRAY - BAS o8y plE-L HlZE2
OXIZEA ASEHIEXR
10,000,000 = 14| 10,000 0 10,000
Hes=s(O20aa) (LSS /HE - 38) 30,000,000 0 30,000,000
LIS HeH K= 30,000,000 0 30,000,000
LIS HeH XI= 30,000,000 0 30,000,000
02 IJI28E=2 30,000,000 0 30,000,000
01 JISd&E= 30,000,000 0 30,000,000
OSEMELHEDIS(HELHSAHE) &
30,000,000,000& * 14 30,000,000 0 30,000,000
olglgl(ogiol/oliglgl) 13,452,672 12,082,515 1,370,157
ollglg| 13,452,672 12,082,515 1,370,157
ollgly| 13,452,672 12,082,515 1,370,157
801 oiild] 13,452,672 12,082,515 1,370,157
02 Holl - JHH=SH0HI] 9,261,170 7,657,515 1,603,655
O A THol-THH=SH 0 H]
Z2& 9,261,170,000& 9,261,170 7,657,515 1,603,655
03 iRRE= 191,502 425,000 N\233,498
OLE LRRE3 Z& 191,502,000 191,502 425,000 A\233,498




